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SM2H Unit 1 — Unit 4 Cumulative Review

Use the graph to find the following information:
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- Find the average rate of change for each function on the specified interval. Show your work!
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Simplify the following expressions. Your answers should contain only positive exponents.
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ewrite the expression in radical form, then simplify if possible.
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Add or subtract and simplify.
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_ Multiply and simplify.
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Factor completely. Don’t forget to factor out a GCF if there is one. If the leading coefficient is

negative, factor out a negative GCF. If the polvnomia{l is prime, say so.
/-

23.10%" 5% 24. x* +6x+?4_)- 25. 22 -4
SY (2%~ | . .
( > {‘ﬂ(l 2> (-%,—’("Z_Y%-')_)
; AT
26. 4rt —8r +1t-2 27. w +3w-10 28. 7t +15t-4
. e Gien !iff{‘
‘-H"(‘{")-)-x«l(l(f).) /W-fgywr:z_) s

| ThreYe) |



- 29. -10y* +35y+20 o 30. 49m* -16 31. m* -6m+9

f:-a‘-f}[jl" Y- L{:\ | (7M+l-{)/‘lm=t4> (mﬂ};r“'%)
?U g ( M-—%)l

—-L{)@{fr

(_:Ci?ij*{yﬁ

Find all solutions (real and imaginary) to each equation by taking square roots. Write all answers in
simplest radical form and write complex answers in the form a + bi.
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Solve each equation by completing the square.
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- Fill in the requested information. Then graph the function. Plot at least 5 points.
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40. Write a quadratic equation in vertex form with vertex: (~12,-3) and passes through (-8,21).
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Solve each system of equations by graphing. Write the solutions as ordered pairs.
NO GRAPHING CALCULATOR!!!
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. Solve the following inequalities. Write your answers in interval notation.

NO GRAPHING CALCULATORS!!!
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